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[+]implicitplot2d()

[*]MeToa Aparvnesa
FX) = [(x y)«(Xo X1)

2 2
X —yx+y —1

sin(5~x2) + sin(4oy2)

D(t,x) := Draghilev(F(x),XO0,tmin, tmax,N) —

X0 := stack(0,1)  tmin:= 0 tmax = 1.6- N := 100 ii=0.N-1

result := rkfixed(stack(X0,1,X0),tmin, tmax ,N,D)

T := result<0> X = result<1> Y = result<2> V= result<3>
1
Roots(res) = L(res)
2
V< res<n>

nv < Search(v)
for iie€0..length(nv) — 1
for jel.n—-1
outij, jj—1 <= InterpOI[( feS<JJ>) (nvii)’ (res<JJ >)
11

(nvii+l) ’V(nvii) ’V(nvii+l):|

out

roots := Roots(result)
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Socos|:4o(x1)2}x1~(x3)2 - 8~cos[4~(x1)2] X1-X3-X4 + & cos[4 ( ) ] ( )2 - Socos|:4o(x1):
10-cos[5-(x0)2:|-xo-x3-x4 - 10-cos[5-(x0)2:| 0
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Curve = (X Y V)T

(1 {0

T
RootsPoints := (roots«)> roots roots >~0)

Plane(x,y) := 0 CurveProj .= (X Y V~O)T




Xmax := 2 ymax := 2

ymin = -2

Xmax ymax
coords := ] ]
xmin ymin

Xmin = -2

(nx ny) := (30 30) grids := (nx ny)T

f(x,y) = F(stack(x,y))o S1 := implicitplot2d(f, coords, grids)

(nx ny) := (200 200) grids := (nx ny)T

f(x,y) = F(stack(x,y))1 S2 := implicitplot2d(f, coords, grids)
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